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QUESTION BOOKLET
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Maximum Marks : 85 JTfershdH 37 : 85
Time : 2 Hours g : 2 90
1.  The colour of a mineral in its powdered form is known as :

(A) Streak (B) Lusture (C) Texture (D) Structure

Teh WIS ol ITeh! FUTe TET H TT %I hed &

(A) % (B) X (C) THIR (D) ®FR

2. Which of the following is a mineral ?
(A) Quartzite (B) Laterite (C) Granite (D) Calcite
freafaeqa H @ s AT @S 8 2

(A) TS (B) WU (C) IrEE (D) chewTee

3. The average compressive strength of a burnt clay brick is less than
12.5 N/mm?. The allowable rating of efflorescence is :
(A) Moderate (B) Serious (C) Heavy (D) Zero

T Seft g3 firgh i 52 (It sfieh) o 3fiea Tt gmed 12.5 N/mm2 R | T8pe
EIRSIEIR] e % :
(A) 7EIH (B) it (C) A (D) A

4.  The Silica in portland cement is :
(A) 10t020% (B) 20t025% (C) 25t040% (D) 40 to 60%
qIéeivg Hide H fafere 2 -
(A) 10820% (B) 20825% (C) 25840% (D) 40%60%

5. According to the Indian Standard Specification, Concrete should be cured
under a humidity of :

YA Ao T o 3T, Hishe i HAgdl T TETfea Em =iy |

(A) 90% (B) 80% (C) 70% (D) 60%
6.  Duco paint is a kind of

(A) Bituminous paint (B) Cellulose paint

(C) Emulsion paint (D) Aluminium paint

SIP! T TH TR &

(A) feefrma de (B) TS e

(C) 3HGIM U I (D) UM Ue 1
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10.

11.

12.

13.

The maximum total settlement for raft foundation on sand is usually limited to
o] W I g o foTw tferenan et Frve = €ifid g
(A) 65 mm (B) 100 mm (C) 150 mm (D) 200 mm

The part of a wall at the side of an opening in the masonry is called

(A) Quoin (B) Jamb (C) Sleeper wall (D) Parapet
FaeTE o eft 3T SR ST 9T hegaTar 2

(A) T3 (B) = (C) f’mal@ (D) Wue

The height of hand railing above the tread should be generally in between
(A) 400 mm to 500 mm (B) 600 mm to 750 mm

(C) 750 mm to 800 mm (D) 1000 mm

38 o S 2US LA Shi HaTg ATHTIAAT $1h Hed BIHT AR :

(A) 400 mm ¥ 500 mm (B) 600 mm ¥ 750 mm

(C) 750 mm & 800 mm (D) 1000 mm

In asbestos cement corrugated sheet roofing the minimum horizontal lap in
metres be

T i Y Tefier sie it B § =Han afifas o 3

(A) 0.10 m (B) 0.15m (C) 0.20m (D) 0.30 m
In a three coat plastering, the third coat is known as

(A) Peripheral coat (B) Setting coat

(C) Bonding coat (D) Floating coat

T hie (STEART) WA | e <hI< hl had &
(A) T ie  (B) FTUME SR (C) ded e (D) =&l hie

The thickness of 25 gauge sheet is

(A) Lessthan 1 mm (B) 1 mm
(C) Between 1 mmto 1.5 mm (D) 2mm
25 ¥t sfie i wreré B

(A) 1 mm3¥HH (B) 1 mm
(C) 1 mm3¥ 1.5 mm o 4T (D) 2 mm

Capacity of flushing cistern is usually
(A) 10 litres (B) 25 litres (C) 12to 151itres (D) 20 to 25 litres
YTer et ShY 1T FTHTIAET Bt &

(A) 10X (B) 25X (C) 12% 15X (D) 20 % 25 wfiex

Code No. : C-502/2018/Series-A 4



14.

15.

16.

17.

18.

19.

Original cost of property minus depreciation is called

(A) Book value (B) Salvage value
(C) Rebeable value (D) Obsolence value
U =l G AT - 19 %l Hhad ©

(A) T qed (B) Sgruiged  (C) {fitsaiqed (D) s ged

A body having similar properties throughout its volume is said to be

(A) Homogeneous (B) Isotropic

(C) Continuous (D) Friction

T Terel fSreh YU 3TRIAH 9 T U1 Sl HET STl &

(A) EE (B) ®HcR®:  (C) Had (D) =N

A load of 200 kg has to be raised at the end of a steel wire. If the unit stress
in the wire must not exceed 800 kg/cm?, the diameter of wire be nearest to

Teh T dR o 3ifad ik W T 200 kg T R TTEHRT AET R | aR T 3618 Tfdast
800 kg/cm? ¥ ST &1 BFT ATEW B, a1 AR Sl ST § T
(A) 4 mm (B) 8 mm (C) 145mm (D) 22 mm

If the depth of a simply supported beam carrying a point load at centre is
halved, the deflection of the beam at the centre will be changed by a factor of

I g T T foigad R T8 i Il Y TTefed x0T 3hi Tl 3l shi S,
Tl heg, T 40T T A 39 T[0T § SGet ST
(A) 4 (B) 12 ) 8 (D) 2

When a member is subjected to axial tensile load, the greatest normal stress
is equal to

(A) Maximum shear stress (B) Half shear stress

(C) Twice the shear stress (D) None of these

S Ueh TR W 3781 o W TR ST, e ATehad B9 Sideiel 35k T &
(A) SAfIhan ITEIV Yfdaet (B) 314} 3mq%yr gfeeast

(C) 3T9EqY Yfdeet sl gl AT (D) ¥ 9 s &l

If the width of a rectangular beam is reduced to half, the strain energy stored
becomes

(A) 4 times (B) 8 times (C) Vatimes (D) ' times
TG Toh STRIATRR G < A1STs e @ I, 1 TR forehfd Sl arft
(A) 4T (B) 8T (C) 7T (D) 2T

5 Code No. : C-502/2018/Series-A



20.

21.

A beam is hinged at A and is supported on rollers at B. It carries two loads
P, and P, as shown in the fig. below :
R, P,=666.67N P,=14142 N R,

A

YAN AN
|<_3 m—>|<— 3 m_,|<7 6 m _,| Roller Support

The reaction at A and B will be respectively
(A) 1000 N and 666.67 N

(B) 1000 N and 1000 N

(C) 1414.2 N and 666.7 N

(D) 1414.2 N and 1000 N

Tsh 90 A T HSAGR U1 B T UTH & faeiferd g | = 31mehfd # ST 38R o7
T UR P; 3R P, bl I8 il & -

R, P,=6066.67N P,=14142 N R4

N

AN AN
3 m—k—im—e—— 6m  ——] TR
A 3R B R gfafsean gnft shaa:

(A) 1000 N 3TR 666.67 N
(B) 1000 N 3T 1000 N

(C) 14142 N 3R 666.7 N
(D) 1414.2 N 31 1000 N

The resultant of the two forces P and Q is R. If Q is doubled, the new
resultant is perpendicular to P. Then

(A) P=Q (B) Q=R (C) Q=2R (D) None of these
T 91 P 3R Q &1 Uit R & | Afe Q &1 AT oKL fezm S, == it P &
Fia—aﬁ%aa:

(A) P=Q (B) Q=R (€) Q=2R (D) T 8 I Tel

Code No. : C-502/2018/Series-A 6



22. The resultant of the coplanar concurrent system of forces F,, F,, F; and F,
shown in fig. is

F =10 kN

{ ,=20V2 kN
F4:20 kN 45¢
IF_,, =20 kN

(A) 20 kN acting vertically upwards

(B) Zero

(C) 20 kN acting vertically downwards

(D) 20 kN acting horizontally from left to right

3TRId H GRIT STER & F, F, F, 3R F,, < SHAC T 73 1 GO g -

F,=10kN
{ ,=20V2 kN
F,=20kN 450
]‘F3 =20 kN

(A) ST HW hH AL HRG 20 kN (B) I
(C) HeateR = *rRia 20 kN (D) Tufafas aT¢ ¥ e SRitd 20 kN

23. The specific gravity of a liquid having viscosity 0.06 poise and kinematic
viscosity 0.025 stokes is :

(A) 24 (B) 3.4 (C) 44 (D) None of these
0.06 TTgst IITAT 3R 0.025 TEIhd TcrsT AT < 5d 1 TS o B -
(A) 2.4 (B) 3.4 (C) 4.4 (D) 3§ IS &

24. To avoid correction for capillary action in monometers used for measuring
pressures, minimum dia. of tube should be :

el AT o foTu SRper WiIHIed | <hidrept foham ® Ffe Teha o ot Aferent w1 =pan
Y HT FMMLT

(A) 2.5mm (B) 10 mm (C) 50 mm (D) 6 mm

7 Code No. : C-502/2018/Series-A



25.

26.

27.

28.

29.

30.

Two small circular orifices of diameters d, and d, respectively are placed on

one side of a tank at depths 25 cm and 1 m below a constant surface of
water. If the discharge through the orifice is same, the ratio of their
diameters d, and d, is

T TR S |ag o HE: 25 cm 9 3R 1 m = & o T 9158 W d, 3R d,
=TE < Q BIS I AR W 7 | Al " & Frewor a9F 7, @ =9 d
3R d, T 374Td &

(A) 1:2 (B) 1:42 (C) 4:1 (D) 2:1

A vertical triangular plane area, submerged in water, with one side in the

free surface, vertex downwards and altitude h has the pressure centre below
the free surface by :

Teh HeATeR Frehiviia a9ael &%, 1 | 81 8371 §, T 9158 Had Uag H 7, I
I & IR T8 h 8 1 ST g W Hag | =g |

(A) h/4 (B) h/3 (C) 2h/3 (D) h/2

A cubical tank is filled with water. If side of tank is 1 m, pressure on base of
tank will be

Teh TR &b UHT 8 WU 8 | Ife 3ok <hl H138 | m 8 b o STMYR W <« &M
(A) 10,000kg (B) 5000 kg (C) 1000 kg (D) 4000 kg

If the velocity of flow as well as the diameter of the flowing pipe are
respectively doubled through pipe system in use since long, the head loss
thereafter will be

(A) Halved (B) Doubled

(C) Increased 4 times (D) No change

Jfq JaTg 1 AT 3T FAIET U1SY (SETE HTfetehT) Tl SATH ShAST: el 0 H ofd o
Teh ITFNT H ST BT & 39 &g 309 314 8
(A) seft (B) arHt (C) 4TNATE (D) PR T T |

A rectangular channel section will be most economical when the depth of
flow and bottom width are in the ratio of

Teh ITIATHR I YT Geliieeh HBIACHS BT ST JdT8 TaUs 31K dd1 shl e
o1 I &
(A) 1:4 B) 1:1 ©€) 1:2 D) 2:1

A 3 m wide channel (rectangular) is flowing at its normal depth of 0.8 m it
carries a discharge of 9.5 m3/sec. The bed slope of the channel will be
(A) Steep (B) Critical (C) Mild (D) Adverse
Th 3 m S A (FABR) THHT TE0s 0.8 m W 98 & 2 98

9.5 m3/sec. TEER0T o1 I8 Il & | ST 1 T @A 81T

(A) Ff@TEO  (B) shildeh (©) 45 (D) widgat

Code No. : C-502/2018/Series-A 8



31.

32.

33.

34.

3S.

36.

In a Pelton wheel, hydraulic efficiency will be maximum when speed of the
buckets as compared to velocity of jet will be

(A) Equal (B) Double (C) Half (D) One fourth
Teh Uoed giel 1, ST GaadT JATIehad gt ST& I¢ oh a7 hl et H sohe <hi TTfd &Il
(A) &AM (B) <Lt (C) et (D) TH =g

The ductility value of bitumen for suitability in road construction should not
be less than

g T 4 Iuzgerdt < foru fergh st q=an go 399 &4 &l g1 91ty

(A) 30 cm (B) 40cm (C) 50 cm (D) 60 cm
The group index of a soil sub grade is 7. The sub grade soil is rated as
(A) Poor (B) Very poor (C) Good (D) Fair

T H U Tal 1 THg Yokl 7 ¢ | 99 US Tal ! 201 8

(A) IS8 (B) aAfa IS (C) 3ITH (D) #Hreamr
The standard length of rail for Broad Gauge and Metre Gauge are
respectively

(A) 12mand 12 m (B) 12mand 13 m

(C) 13mand 12 m (D) I3mand 13 m

S TS 3T HeX T o foru vedt <h gres e 8 shas:

(A) 12m3R 12 m (B) 12m 3R 13 m

(C) 13m3MW12m (D) 13m3R 13 m

Which of the following factors govern the choice of gauge ?

1.  Volume and nature of traffic

2. Speed of train

3. Physical features of the country

The correct answer is

(A) Only 1 (B) Bothland2 (C) Both2and3 (D) 1,2 and3
frfoifaa © 9 &M § SR I & =994 ol FHARd & 8 2

1. 2o ! AT 3R THid

2. AR
3. W3 ohl STehceh foRISdTd
eI IR g

(A) whad | (B) 13R2gHl (C) 23R3gHT (D) 1,233

For a broad gauge route with M+ 7 sleeper density, number of sleepers per
rail length is

M+ 7 TEAIR T et Teh §1S T & oh ToTl Ui 1T TS &A1 shl TTT &
(A) 18 (B) 19 ) 20 (D) 21
9 Code No. : C-502/2018/Series-A




37.

38.

39.

40.

41.

42.

43.

The error due to bad ranging is

(A) Cumulative — positive (B) Cumulative — negative

(C) Compensating (D) Cumulative; positive or negative
QU ST o ST I B

(A) Tt — gTcH (B) @Rl — U

©) ?ﬂﬁlﬂg@ (D) TAt; GATHb AT KT

If L is the measured length of a line, then the compensating errors are
proportional to

Ife s Y@ 6 A T o L R, 99 aafaques et saeh mundt 2

(A) L3 (B) L2 (C) L (D) L

The required slope correction for a length 60 m along a gradient of 1 in 20 is
60 m TS 3R 1 in 20 JavrdT < fotu e yaurn Jfe 2 -

(A) 7.5m (B) 75cm (C) 0.75cm (D) 5.50 cm

If the quadrantal bearing of a line is N 25° W, then the whole circle bearing
of the line is

¢ Teh @1 %1 JAUTC GhAM N 25° W &, T @1 %1 991 I TG 8

(A) S25°W (B) 205° (C) 335° (D) 295°

What is the magnetic declination at a place if the magnetic bearing of the
sun at noon is 184° ?

Teh T T gah fepura @ g Al Aeng & a9 g o1 geehid fepam
184°% 2

(A) 4°W (B) 4°E (C) 176°W (D) 176°E
Contour interval is

(A) Inversely proportional to scale of map

(B) Directly proportional to the flatness of ground

(C) Large for accurate works

(D) None of these

= 1@ 3 &

(A) oI % Tehcl I SIHATIITA] (B) €Xqd <h! FHAAT I HHTIATCT

(C) T I & feTT J&a (D) 3T IS &I

As applied to staff readings, the corrections for curvature and refraction are
respectively

(A) +and-— (B) —and+ (C) +and+ (D) —and -

T i o foTu e arshar 37 3TaadH | Ffe o B
(A) + 3 - (B) — 3R+ (C) +3MW+ (D) — 3N -

Code No. : C-502/2018/Series-A 10



44.

45.

46.

47.

48.

49.

During levelling if back sight is more than fore sight
(A) The forward staff is at lower point.

(B) The back staff is at lower point.

(C) The difference in level cannot be ascertained.
(D) None of these

A b S Tfe oeh T8¢, B {15 § SITeT 7, ol
(A) 370 R i foig W |

(B) v W% i foig w g |

(C) T T 3R Fayifea i fepam < wehar |

(D) $¥H U H1g T

A line of level was run from Bench mark A (770.815 m) to a Bench mark
B (772.940 m). The sum of back sights was 32.665 m and sum of fore sights
was 30.44 m. The closing error in m is

Taet <l T W1 9 A1 A (770.815 m) ¥ &= A1 B (772.940 m) Tk Teidl @ |
TSR Sl AN 32.665 m 3T TSR hl AT 30.44 m AT | HIA IR mH 7
(A) 0.105 (B) 0.100 (C) 0.205 (D) 0.200

Which of the following methods of plane tabling is also known as graphic
Triangulation ?

(A) Intersection (B) Resection (C) Traversing (D) Radiation

i Safert shi ffrfaa d @ @ € fafer i srmeret Brepr et s g 2

(A) RN (B) o™ (C) <shrt (D) fafepror

If L is the length of a transition curve and R is the radius of a circular curve,
then the shift of the curve is directly proportional to

(A) Rand 1/L2 (B) 1/RandL? (C) 1/R?andL (D) R2?and I/L
If¢ L Teh HHAY TF hl AFTS § HR R T Jiid a3k <l 031 & a1 a5k

foreemo T 8
(A) R3W1/L2 (B) I/RIARL? (C) I/RZIARL (D) R23MW1/L

If an upgrade of 1.5% is followed by a down grade of 0.5% and rate of
change of grade is 0.2% per 20 m chain, then the length of vertical curve is

Ife 1.5% 3T9US & 91 0.5% 34 US g 3R U H e shl e 0.2% Jfd 20 m
o 2 99 S Ik hl TS @
(A) 100 m (B) 200 m (C) 300 m (D) 400 m

If the average daily water consumption of a city is 24000 cum, the peak
hourly demand (of the maximum day) will be

Ife T I H 3T ¢ Tt I @Id 24000 cum B, A qfd TR I= A

(3ferepay fe) Bt
(A) 1.5 (B) 1.8 (C) 2.0 (D) 2.7
11 Code No. : C-502/2018/Series-A



50.

51.

S52.

53.

54.

5S.

56.

Higher quantities of copper, more than 2.5 mg/l or so, may cause diseases
pertaining to :

(A) Kidneys (B) Lungs (C) Liver - (D) Arsenic

afel =ht 3= WET, 2.5 me/l & 31feeh 3tan 3, fhas et s shiitd ot & 7
(A) I (B) W5 (C) TFd (D) rife
Presence of nitrogen in a waste water sample is due to the decomposition of
(A) carbohydrates (B) proteins

(C) fats (D) vitamins

fendeh ferere o T 3TusTer frieet # Argeie <t Sufeafa & 7

(A) ®EEEgE  (B) WRH (C) =& (D) faerfim

The measurement of non-biodegradable organic content is usually carried
out in terms of :

ARl SHTefeh d<a sl HTI9 ETHTIGAT 34 Ui § fohaT STa1 @

(A) BOD (B) DO (C) TOC (D) COD

The settling velocity of inorganic particles, larger than 0.1 mm dia., varies

with the dia. (d) in proportion to

(A) &3 (B) d? ) d (D) none of these
SHUT T AT AT, 0.1 mm TH § AT =4 (d) < 9 34 o

SeAdl &
A) & (B) d? (C) d (D) ¥ 9 i T&

Which of the following chemicals compounds can be used for
dechlorination of water ?

(A) Carbon dioxide (B) Bleaching powder

(C) Sulphur dioxide (D) Chloramines

frfoifga @ @ &N &1 TEE G 9T o o -FiiTesor © foe s o
ST FHAT S ?

(A) e SRIFETEE (B) Tectfam ueet

(C) ToH SRAITES (D) FARTH

Aeration of water is done to remove

(A) Odour (B) Colour (C) Hardness (D) Turbidity
AT H ST HelT 39 U o foTe fearm e &

(A) T (B) W (C) =3 (D) TTGATH
Trickling filters are used to remove

(A) Suspended solids (B) Colloidal solids

(C) Organic matter (D) Pathogenic bacterias

SIRTeTT ftheed 30 QLT o 1T g 21 & -
(A) Fafsasm  (B) wefiei@a@ (C) =i uged (D) i serefen

Code No. : C-502/2018/Series-A 12



57.

58.

59.

60.

61.

62.

63.

In a separate sewerage system the most suitable section of sewer is

(A) circular (B) elliptical (C) eggshaped (D) rectangular

T Jeh HASIA o H Al YU Sl T8 39 TRH &

(A) I (B) Srele (C) 3SR (D) 3R

The maximum velocity in a sewer of diameter d will be obtained when

depth of flow is equal to :
TE d I 7l YU | Sehd® 71 ITed fohaT ST Hehdl @ S8 YaIT8 sh TTEUS 39

IR

(A) D (B) 0.5d (C) 0.808d (D) 095d

The specific gravity of sewage is

(A) zero (B) slightly less than 1

(C) equalto 1 (D) slightly greater than 1

AT o1 TfTS Tocd B

(A) I (B) laUdEI®HE (C) 1HTAE (D) 1T A

The relative stability of a sewage sample, whose D.O. equals the total
oxygen required to satisfy its BOD is

(A) Zero B) 1% (C) 100% (D) infinity

T ool 9ma i due fRrar, fme D.O. 38t BOD it &qf® & fau
JTITIH P AT o THM &, &

(A) I (B) 1% (C) 100% (D) 3Fd

What is the theoretical oxygen demand of 300 mg/1 glucose solution ?

300 mg/1 TTehI et o ToTT SgTfcreh SATerfisH STTaIshal =11 & ?

(A) 300 mg/l (B) 320 mg/l (C) 350 mg/l (D) 400 mg/l

The Leachate is an effluent from which of the following ?

(A) Septic tanks (B) Sanitary Land fills
(C) Compost plants (D) Aerated Lagoons
foefete fferfiaa o @ fopmd @ e 2 2

(A) U< H (B) &tett oie fhem
(C) MR wAeH (D) dfad &

Beam sections designed in accordance with LSM as compared to WSM will have
(A) Larger depth and smaller amount of reinforcement

(B) Same depth and same reinforcement

(C) Smaller depth and more reinforcement

(D) Same depth as of Deep beam

WSM 1 3198 LSM % 3TIHR Afh{cqd 9% e §
(A) 3T TEUE 3T HH T&ei 6l AT (B)  THH TR 3T T Yoo
(C) TuT TR 3R AT Jaerq (D) & G S THH TR
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64.

65.

66.

67.

68.

For a continuous slab of 3 m x 3.5 m the minimum over all depth of slab to
satisfy vertical deflection limits is

3m x 3.5 m Tad &ie & ¢ Searer fagu €ur &1 g9q8 s arel w6
~IIH $el TS ©
(A) 5cm (B) 7.5cm (€) 10cm (D) 12cm

For a simply supported beam of span 15 m, the minimum effective depth to
satisfy the vertical deflection limits should be

(A) 600 mm (B) 750 mm (C) 900 mm (D) more than 1 m.
15 m forgfa &t Wg onafeaa o & fou, Seater faga Him 1 dge @ &
fore =g srurelt s @ =R

(A) 600mm  (B) 750mm  (C) 900mm (D) 1 m3¥ e

Due to shrinkage stresses, a simply supported beam having reinforcement at
bottom only

(A) Tends to deflect downward (B) Tends to deflect upward
(C) Deflect downwards or upwards (D) None of these

Gepa Tideell o R IG ST 90 H Te hadl ol T 8l &
(A) sranTH fagm # srfime (B) et fagy # s1fima
(C) AT a1 e forg (D) 3T & IS Tl

An RCC slab under mild exposure condition having main longitudinal
tensile reinforcement of diameter 12 mm, then minimum allowable nominal
cover to satisfy durability requirements as per code (IS 456 — 2000) is

Tsh RCC &S o 37T g TR0 el &1 & 3T aF Yo =™ 12 mm
1 8 qd DI (IS 456 — 2000) o IR FRRAT SATTTIRATSAT ! TGE HH & T

~IJqH 3T AIHA el &
(A) 10 mm (B) 15mm (C) 20 mm (D) 25 mm

The ratio of permissible shear stress in Limit state Method of Design and
Working stress method of design is

tfirspeas <t ferfire e faf¥r o st e fdeer 3t sifirsheu it e =
faftr § arquma 2
(A) 25:16 (B) 5:4 (C) 16:25 (D) 4:5
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69.

70.

71.

72.

73.

Minimum shear reinforcement in beams is provided in the form of stirrups to
(A) Resist extra shear force due to live load

(B) Resist the effect of shrinkage of concrete

(C) Resist principal tension

(D) Resist shear cracks at bottom of the beam

I H =9 &I Yideadt hie ey | a1 A g |

(A) Sfiad WR o HROT Al STTEI0 Tfdee Ushar 2 |
(B) whshic o fgpe o TuTd 1 Tkl |

(C) Y@ T ol U |

(D) &R % I W 3TTEYUT UL b T |

The main reason for providing number of reinforcing bars at a support in a
simply supported beam is to resist in that zone

(A) Compressive stresses (B) Shear stresses

(C) Bond stresses (D) Tensile stresses

Teh g AT 9 H YR W YT BS1 hl T TGH A T J&I HRUT 36
SERE I UHT 2 |

(A) wdred gfaee (B) 3TI&YYT Yfaaet

(C) e gfaeet (D) o fdeet

The reduction co-efficient of an RCC column with an effective length of 4.8
m and size 250 mm x 300 mm is

Teh RCC e, faeh! Turell o 4.8 m 3R |89 250 mm x 300 mm 8, <
~IFehLUT TUTTh &
(A) 0.80 (B) 0.85 (C) 0.90 (D) 0.95

What is the minimum nominal percentage longitudinal reinforcement to be
provided in a concrete pedestal as per code ?

g % AR Hhehie Uk H a1 S el =an e Jfaerd 3Teed Jaeq
ERIEN:
(A) 0.4 (B) 0.2 (C) 0.15 (D) 0.1

When minimum eccentricity in columns does not exceed 0.05 times the
lateral dimensions, the axial load carrying capacity is reduced by

ST <hIcTH H =[IaH Icohrgdl RS TR § 0.05 THT 81 agdl &, 31&fT IR a8
9T ¥ Bl ST &
(A) 8% B) 11% (C) 14% (D) 20%
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74.

75.

76.

77.

78.

79.

80.

In the Limit state design of prestressed concrete structures, the strain
distribution is assumed to be

(A) Linear (B) Non-linear

(C) Parabolic (D) Parabolic and Rectangular
T afoid shehie TLaHT3T i Tetfie e fesireHi H, StguTia foshid forawor &
NRRUCED (B) Iifas

(C) waert (D) IR 3T IIATHR

As per IRC the slope of cutting in earth should be
IRC 3 STFER YT H Fad &I sHT ATEY

(A) 1:1 B) 1:2 C) 1:4 (D) 2:3
For a water bound macadam road, the recommended camber is
(A) 1in24To 11in 30 (B) 1in30To11in48

(C) 1in60 To 1in 80 (D) 1in80To Iin 120
Teh STt ST HeheH Tgeh o foTu, STEMIT Hrl 8

(A) 1in24% 1in 30 (B) 1in30¥ 1 in48

(C) 1in60F 1 in 80 (D) 1in80¥ 1 in 120

While performing Attrition and Los Angels abrasion test the weight of
stones to be used should be

ST GENUT 3R A Tsled Aqeduy gdeqor fsarfeq st a0 e qeeii i YR

HEISIIY
(A) Skg (B) 2kg (C) 8kg (D) 7.5kg

Mandatory signs are displaced on a disc having a diameter of

=1 <hl Tt T 3faemd fagl <l foreenfuq fran STaT 2 |

(A) 30cm (B) 60cm (C) 50cm (D) 100 cm
In a tack coat, bitumen is used at the rate of

Teh ¢ ohie § fogH- 39 QX 8 TP gl & -

(A) 1kg/m? (B) 0.5kg/m? (C) 5kg/m? (D) 10 kg/m?
Carpeting is

(A) Smoothening of a road surface

(B) Laying of red carpet on road

(C) Laying of bitumen or concrete layer on a road
(D) Operation of removing snow from road

HAU &

(A) T TS h! Tag hl b1 SHMT |

(B) ©SH W ATA U oM |

(C) T W forgd a1 shshie 6l W fosHT |
(D) HSH H &% o gL HLA ohl HshAT |
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81.

82.

83.

84.

85.

86.

As per IRC the difference in temperature in between aggregate and binder
should not be

(A) more than 14 °C (B) less than 14 °C

(C) less than 20 °C ’ (D) more than 20 °C
IRC % ITTER el 37 §¢eh o ste aT9H™ H 3T 81 g1 91eg
(A) 14 °C & =TT (B) l4°C@=n

(C) 20°CH=H (D) 20 °C ¥ T

To transfer wheel load at expansion joints from one slab to other
(A) Tie bars are used. (B) Dowel bars are used.
(C) Hanger bars are used. ’ (D). Bitumen filler is used.
Teh T © g o foreqfet Sigl ot =giel Wi 33 i o fefg

(A) T3 SR YT B 2 | (B) Si9cT 98 YIF BId % |
(C) TRBSIIR B & | (D) fogha fthet (Th) TYFI B & |

The ratio between the adopted centrifugal ratios for roads and railways is
Ggehi T {eTdl o foTt Teftehrl 3Tuehest STUTAT < Sl 3TUTd &

(A) 3:1 B) 4:1 < 2:1 D) 5:1

Which one of the following method is used in the design of rigid pavements ?
(A) CBR method (B) Group Index method

(C) Westerguards method (D) McLeod method

TN Bzt 35 e § Frefiad i & # H fafe e a2

(A) CBR fafu (B) @ gehich farfey

(C) aeeunEy fafy (D) Bepferatie fafy

The absolute minimum radius for a horizontal curve designed for a speed of
100 kmph given the permissible values of super elevation 0.08 and
co-efficient of friction 0.12 will be

100 fer. . gfcr guer 6t 71fa o o srferfeua v aufafas sk foreeh sTenem™
T 31T T 0.08 3 =y 7orieh 0,12 fezm o B, < frves =gam e gt
(A) 349m (B) 295m (C) 364m (D) 252m

In the design of highways expansion and contraction joints should
respectively be provided at

(A) 50mand32m (B) 50mand 10 m
(C) 25mand 10 m (D) 25mand32m
TS b STTHehed | forid 3T Ter sarse e feu Id &
(A) 50 m 332 m™ (B) 50m 3N 10 m™
(C) 25m3M 10 m™ (D) 25m3N32mW
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87.

88.

89.

90.

When the times of earliest finish and the latest finish are equal in operation,
the operation is called

(A) critical (B) float

(C) free float (D) All of the above

IS T § AT THIY hied a2 J7 TIeAfeerd Taie oiel 99 8, a8 J=ied
! HaEd 3

(A) shifdeh (B) wAfed

(C) ¥ wiferd (D) 3wt

The post operations in CPM are marked :
(A) right to an operation

(B) left to an operation

(C) in the middle

(D) atthe end

CPM T 3T Gfshan 37fshd Bl 8
(A) dfsran o grft 3R (B) Hfshan o arff 311
(C) s=d (D) Jad

In PERT analysis the duration of the activities is taken as
(A) Optimistic time

(B) Pessimistic time

(C) most likely time

(D) expected mean time

PERT ferveryur o feranfafert o1 aue foran sman &
(A) ITRMETE! A (B) TrmmaTd wvret
(C) JHTAH ST (D) TG H1eT ShIed

Which of the following rollers is suitable for soil cement stabilized road
construction ?

(A) Vibratory roller

(B) Sheep foot roller

(C) Pneumatic roller

(D) Smooth wheel roller

eI HiHe T faargsg desh M o Tt FmfTRad o 9 o & Uetd SUged & ?

(A) TR TR (B) MU (C) ~HIH UeR (D) Y A ek
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91. The force in the member BC of the truss as shown below is
20 kN 40 kN

|

60°  60° 60° 609\ 4
I 3m 3m I
(A) 40 kN(comp.) (B) 40.41 kN(comp.)
(C) 20 kN(comp.) (D) Zero
I gITT 31U St & 9 BC § ot 3
20 kN 40 kN
L
60° 609 60°  60°%\ p
‘[ 3m 3m I
(A) 40 kKN(HYTET) (B) 40.41 kN(@HET)
(C) 20 kN(HUTE) (D) I

92. Continuous beams are
(A) stronger and much stiffer than simple beams
(B) weaker and less stiffer than simple beams
(C) subjected to excessive shear strain
(D) with stand double the bending moment
ad 9% 7

(A) |TURVT 9 § A IR S G
(B) |TURUN 47 H FHHAAR TR HH G
(C) Ircaferes Tuequr Yfqeet & guTferd
(D) T S AT ol Tehd ¢ |
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93.

94.

9s.

96.

97.

The ratio of bending moment at the centre of a simply supported beam of
effective span L subjected to a central load W with that when the load W is
uniformly distributed will be

o R W ok 31¢fF gwet fogfa L amel U 31 STafrad 9t o heg W SR

JTEUT 1 8 AR W I &9 & f9aftd 8 9 3941d 8im

(A) 1/2 B) 2 C) 4 (D) 8

]IDn which case for a cantilever beam, the deflection will be maximum when
eam is :

A) carrying point load W at free end

B) carrying udl over entire span

C) carrying point load W at mid span

D) carrying udl over half of span trom fixed end

T T b {ohH A 4 foraid Jrferehed g < a3

(A) o TR T W foig W 987 a1 8 |

(B) HYO! forqfel o T fordfid Wi /& L ¢ |

(C) we fergha T W faig W a9 a1 2 |

(D) TR &R et forgfd X 0 foraitd WR 98 shLam 2 |

If the depth of a simply supported rectangular beam is doubled, for the same
load W, the Deflection at the centre will be

Ife TuH YR W o T 3[g STTefted STrrarer et <l 7848 of THT 8 df g W

faera g
(A) 112 (B) 1/4 (©) 1/6 (D) 1/8
Principal planes are the planes on which the resultant stress is the

A ear stress B) Normal stress
C) Tangential stress D) None of these

Y@ qct 98 act & 18 o aiend En%aa% .
(A) 3T9EqU Yfdeet (B)  ATYRU Yfdeel (C)  Tasfiar gfdeet (D) 378 & 13 781
In a simply supported beam shown in fig. below, if the dimensions ac and ab
are doubled then the bending moment and shear force at ¢ will be such that
w/unit length

roller support

YyYvYyYYY VY Yy v¢¢v A\ 4

D ) ="
Both SF and BM are double
B) SF is half BM is double
C) SF is double and BM is half
D) SF is double and BM is four times

= TRl § g T WG SR 9 | A ST ac 37K ab w1 QFH = feu
T AT ¢ O S Tt 3T STHEIT 5t Bl

w/unit length

vrer ‘r‘”ll,_,iﬂwmﬁé
ey s

(A) ITTEIY T I b SR AT R |

(B) Wwaﬂmaﬁt{ﬁmm%

(C) STOETYT S GUT 3T Sehe ST T3 |

(D) STTEIY FA Gl THT 3R b ITEO] IR T & |

A
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98.

99.

100.

101.

102.

103.

Barrage is preferred over weir because

(A) silting is less. (B) better control of levels is possible.
(C) cost is high. (D) None of these

TR 6 3T A AR B FAifh

(A) TEHFAE | (B) el ol 31Tk 3Tl R ave 7 |
(C) AMa3=Z | (D) 0 O HIs T&l

Which of the following crop rotations are correct ?

(A) Gram-Rice (B) Wheat-Gram-Jwar

(C) Jwar-Gram-Cotton (D) Cotton-Wheat-Gram or sugarcane
freferRea & & =9 @1 wHe = T8 8 2

(A) =H1-=TEd (B) Tg-aH1-SaR

(C) SAR-THT-pUTH (D) ehqla-ﬁf:i-ddl RIRIC]

The residual chlorine after 10 minutes contact is 0.2 mg/l. What is the
dosage in mg/1 ?

10 fire = Tueh & o1g 7T Tl 0.2mg/l 8 | G & AT mg/1 H §

(A) 036 mg/l (B) 0.46mg/l (C) 1.00mg/l (D) 0.16 mg/l
The compressive strength of 100 mm cube as compared to 150 mm cube is

always
(A) Less (B) More (C) Equal (D) None of these

150 mm ¥ % |U& 100 mm T T T AT gHem 8
(A) HH (B) 3ifue (C) &= (D) T8 | I3 Ta
The heat of hydration of cement can be reduced by
(A) reducing the proportion of C;A and C;S.
(B) increasing proportion of C, Aand C, S
(C) increasing fineness of cement.
(D) Both (A) and (C)
6 TS FEHT A <l T Hehell B
(A) C,A 3R C,S % ITUTd hl HF Hieh |
(B) C,A 3R C,S o 31U I ST |
(C) e 6 THar STt |
(D) (A) 3 (C) gt

The purlins in a roof truss are placed at the panel points essentially to avoid
(A) Axial force in rafter (B) Shear force in rafter
(C) Deflection in rafter (D) Bending moment in rafter

Th B shel § U Ige T Ul STaeeh &9 § T I1d &
(A) WRH AT TAVRAI R T | (B) 9T H TUEI0 o Ushd & T |
(C) I H faga Tepd & foTu | (D) 1T H b Tl Tehe o FoTT |

21 Code No. : C-502/2018/Series-A




104.

105S.

106.

107.

108.

109.

As per IS 800-1984 the maximum allowable slenderness ratio of members
carrying compressive forces resulting from dead and super imposed loads is

IS 800-1984 % IR Tt YR IR ARG YR o TNUMHETEY qUTS Fel i
& U dTct FERAT o1 STTUhaH T T 31U &

(A) 180 (B) 250 (C) 300 (D) 400

A plate used for connecting two or more structural members intersecting
each other is termed as

(A) Template (B) Gussetplate (C) Base plate (D) Shoe plate
Th-GE ! Tesg i a1t & AT IAeh TS TGl hl HATI A o
foTu wge i =i had &

(A) I=Ae (B) TR wC (C) SFwie (D) =R

In a roof truss, the horizontal beams spanning between the two adjacent
trusses are known as

(A) Principal rafter (B) Common rafter

(C) Purlin (D) All of these

Teh B shell H, & GO Shial o H& GHIATAST 87 helTdl bl had &

(A) Fiftre gt (B) s (C) dfel (D) Ig Tt

The effective length of an angle member in a riveted truss is equal to which
one of the following where 1 is the centre to centre distance between the
joint ?

Teh {ads o8 () | U vl Heed sh IHTet ofarg Ffaiaa o & ferges w0 2,

el SeITSE o HeA h5 W h5hI U B |

(A) 1 (B) 0.851 (C) 0.651 (D) 051
Which of the following does not describe a weld type ?

(A) Butt (B) Plug (C) Zig-Zag (D) Lap
frefcTRea & | SF |1 T dog TehR ol Ivid &l ohidl & 2

(A) & (B) (C) fSm-sm (D) M

The percentage of the void ratio will be highest in
(A) Organic clays

(B) Soft clays slightly organic in nature

(C) Stiff clay

(D) Loose sand

feferd araTa =61 wfcerd Tatfees g
(A) eI FicTenl

(B) TS ¥ Hhisifeh 0T AT HG HieiehT
(C) e Hftreht

(D) furforer ameg
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110.

111.

112.

113.

114.

115.

A soil sample has a porosity of 40%. The specific gravity of solids is 2.70.
The void ratio will be

Teh HeT wfcrest S FIAT 40% 2 | 31 1 fafire e 2,70 B | ifa argama &m
(A) 0.25 (B) 0.667 (C) 0.75 (D) 0.80

An isobar is a line which connects all points below the ground surface at
which

(A) the local ground elevation is same.

(B) the settlement is same.

(C) the vertical stress is same.

(D) the ground elevation is varying.

HTSHIER Teh @1 § S 4R o 1< qHi Tog3Tl I ISl & J&l W

(A) TR eRIaet 318 T9H 8 | (B) Vfierawen auH 2 |
(C) Fearer gieet TuH 7 | (D) ERIaet SeTs TEd-siet 2 |

When the plastic limit of a soil is greater than the liquid limit, the plasticity
index is

(A) Negative (B) Zero (C) One (D) More than one
T HeT hi welTTeesh HHT SHAT g9 HiuT | 3Tk B d WRIHIE Teehich 3
(A) THRIHS  (B) I (C) TH (D) T ¥ 3feres

The slope of the flow curve obtained from liquid limit test expressed as the
difference in water contents at 10 blows and 100 blows is called

(A) Flow index (B) Porosity index

(C) Liquidity o (D) Percolation index

10 s @ 100 ST ST | H 3T o &Y T g 7 8797 3 TS Y18 osh bl &It
HEATT B

(A) 9418 ESEIED (B) @xdn Hdbhlh .

(C) wargr (D) 3T &Y YAkl

The ratio of energies imparted to soil sample in modified proctor
compaction test and standard proctor compaction test is about

NI TR T TeI0 3R A TeeR Hea- qa&v § ger idew H JgH
ST T AT & I
(A) 10.0 (B) 4.5 €) 22 (D) 1.8

According to LI.S.I. classification the soil whose co-efficient of permeability
is more than 10-? cm/sec, the soil will be classified as :
(A) Pervious (B) Semi pervious (C) Impervious (D) All of these

1.S.I. SffeRtor < TR HeT ekt TmIar omeh 102 cm/sec & 3714 & 39 Hal
1 Sfiehd Teparm ST :
(A) TR (B) Jdummy  (C) U (D) I8 |t
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116.

117.

118.

119.

120.

121.

The porosity of a certain soil sample was found to be 80% and its specific
gravity is 2.70, the critical hydraulic gradient will be estimated as :

% v g freet i Wy 80% el ME i sEen fafie e 2.70 7,
AT Fhifieh SeTeTs JIUTdT & :

(A) 0.34 (B) 0.92 €) 1.0 (D) 1.5

The angle of internal friction of round grained loose sand is about

(A) 5°to25° (B) 25°to30° (C) 30°to35° (D) 32°to37°
TMIATRR SHUTETe! TRIFI STe] T STTANEh =90 I §

(A) 5°925° (B) 25°@30° (C) 30°@35° (D) 32°®37°

The expansion of soil due to shear at a constant value of pressure is called
(A) Apparent cohesion (B) True cohesion

(C) Dialatancy (D) Consistency

TS o O e TR STHEIT 3 ST Tl 9 helld ohl had &

(A) T g6 (B) IUF TEeE  (C) SHweH (D) HEhRh

Inverted arch footing is more suitable for

(A) Residential buildings (B) Bridges

(C) Single storey building (D) Light warehouse
319G =19 UTE 37T ST &

(A) AR Wod | (B) qoi#

(C) T HieT wa 4 (D) & e |

Piles in foundation are taken to depth

(A) till the bearing and frictional resistance is more than the load on pile.
(B) till the frictional force is more than the load on pile.

(C) till hard soil is reached.

(D) None of these

el o T (TSeT) 3 TS e T 1A & -

(A) 9 b T3Sl T HR & GROT 3T T907 TTeie SATe 8 |

(B) ISA W AR H TNUT S AT B |

(C) R Hel Ugad & |

(D) 319 9 ®E T8 |

Which of the following sites was destroyed by fire ?

(A) Lothal (B) Kalibangan (C) Amri (D) Kot Diji
frefcTRed o | SF |1 TS 3T | & 8l 97 A1 2

(A) dEA (B) el (C) 3™ (D) hiedrstt

Code No. : C-502/2018/Series-A 24



122. In the Rig Vedic age, the Aryans could

(A) read (B) write

(C) read and write (D) neither read nor write

FI{eeh el § 3T

(A) 9 Thd ¥ | (B) for@asha ¥ |

(C) U 3 forg Tehd A | (D) € g Tehd U 7 &l for@ T 9 |
123. Kosambi was the capital of

(A) Chedi (B) Malla (C) Panchala (D) Vatsa

ST T

(A) =g (B) Hewd (C) U= (D) ocH
124. Where was the capital of Iltutmish ?

(A) Delhi (B) Lahore (C) Agra (D) Panipat

SoqarsT Sl T et ot 2

(A) feeeh (B) &R (C) T (D) OrTad
125. Which language benefitted the most from the patronage of Krishnadeva Rai ?

(A) Tamil (B) Telugu (C) Prakrit (D) Sanskrit
T T h TV | fohe WTHT hl Tifereh A1 §3T 2
(A) Tl (B) dT (C) mepd (D) &&pd
126. Who started the system of auctioning the land to the highest bidder ?
(A) Lord Cornwallis (B) Lord William Bentinck
(C) Lord Hastings (D) Lord Canning
Tatferes siefl T aTet ! fi <t et e fohe s 6 2
(A) TS HHaTH (B) e faferem sféen
(C) wiS gfedm (D) TS KA
127. Who gave the call — ‘One religion, one caste and one God for mankind’ ?
(A) Vivekananda (B) Dayanand Saraswati
(C) Sri Narayan Guru (D) M.G. Ranade
forem “HTsa o fotu wsh o, Teh SMfd 3R Teh $9at” ot A1 fem 2
(A) femrg (B) TG HTEdl
(C) it TR e (D) .. TATS
128. Which revolutionary started the newspaper, the Talwar in Holland ?
(A) Bhikaji Cama (B) Lala Hardayal
(C) Rahmat Ali (D) None of these
gletvg o fohdl ShIfdepil 4 ‘Aol THTER -3 TRY foha 2
(A) HIehTSIT shrHT (B) TeAT BT
(C) TEHa 3Tt (D) 3§ IS &I

25 Code No. : C-502/2018/Series-A



129. Which one of the following writs is issued by an appropriate judicial
authority/body to free a person who has been illegally detained ?
(A) Quo-Warranto (B) Mandamus
(C) Certiorari (D) Habeas Corpus
TR-HMH T § ToHEG Afth Bl WA i o (oQ Shaa —rties ar / e =i

frefaftaa 9 @ = & arfaes ST S @ 2
(A) ARBRI=ST (B) T (C) I (D) s&I-Teafietor

130. Which part of the Constitution of India refers to the responsibility of the
state towards International Peace and Security ?
(A) Fundamental Rights
(B) Emergency Provisions
(C) Directive Principles of State Policy
(D) Preamble to the Constitution

WRAT T o1 i 81 WHT TGS 3fd 3T Tt o Ifd TsF & erreredi i
Hefifd sar g ?
(A) T AfUsR (B) 3MUTAhIeHH T4
(C) T=H o Hifa Freers fgma (D) dfaa™ i 3G

131. When an advance grant is made by Parliament, pending the regular passage
of the budget it is called

(A) Vote on credit (B) Token grant
(C) Vote on account (D) Supplementary grant

T ol AT Wlehfd 1 Ush L THE g fou T8 1M 31 gH 1 had @
(A) FGEH  (B) TFAWE  (C) WEEEH (D) FH N

132. The ministers in the Council of Ministers at the state level are appointed by

the
(A) President of the Party (B) Governor
(C) Chief Minister (D) Prime Minister

TSI &R W ACHEea 4 761 6t fgfad $7eh g & It @
(A) Ui & FA=F (B) TSI (C) g&a (D) wu™ Wt

133. Kasturba Gandhi Education Scheme is related to

(A) Girl Education (B) Tribal Girl Upliftment
(C) Both (A) and (B) (D) None of these

SHEQLET e FRTeAT ArST Feied &

(A) = freron (B) SATCITE Heal e
(C) (A) 3T (B) TH (D) ¥ & P T
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134. Who among the following was the first Chairman of the Planning
Commission ?

(A) Dr. Rajendra Prasad (B) Jawahar Lal Nehru
(C) Vallabhbhai Patel (D) J.B. Kriplani
frefcTRed o | IF FISHT TR & Yo 37598 9 2
(A) . TG 4G (B) AR N8€
(C) TEAYTE UeA (D) S.&. Ut

135. Which one of the following is a retail banking product ?
(A) Home loans (B) Working Capital Finance
(C) Corporate term loans (D) Infrastructure financing
frefeTRea @ & & & (e Sfeh Tisae 8 2
(A) BH AR (B) afehT shifieet Wz
(C) SIURe eH d=| (D) SR BIEHHIT

136. National income in India is compiled by
(A) Central Statistical Organisation
(B) Indian Statistical Institute
(C) Finance Commission
(D) None of these

RA H TYT 7T Gehford ohl ATt 2
(A) 5 AR |3 g (B) YR AT ¥ g
(C) fora s@m gm (D) 370§ IS T |
137. More than 90% of the rock-forming minerals in the earth’s crust consist of
(A) Silicates (B) Oxides
©) Carbonaj[es (D) Sulphides anc} Sulphates
gefl 1 Tud § 90% & STl IgM v @S aw o Bid &
(A) Taferhe & (B) 3TiETEE
(C) wEMHE® (D) TeHIEE 3R Tothe &
138. Which is the highest volcanic mountain of the world ?
(A) MaunaLoa (B) Laki (C) Cotopaxi (D) Mt. Fuji
forva =1 Ha8 a1 SATATIE T Uad i |1 8 ?
(A) TRATART  (B) o (C) wemad (D) TR TSI
139. The largest Indian glacier lies in
(A) Ladakh Range (B) Karakoram Range
(C) Sulaiman Range (D) Hindu Kush Range
o Fg1 IR fame fera 3

(A) FE@ & H  (B) SHMASH(C) guaHEd (D) g d
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140.

141.

142.

143.

144.

145.

146.

147.

The coastal areas experience

(A) moderate temperature (B) high temperature
(C) low temperature (D) None of these
qeadt &t 4 BT 8

(A) AEEAUEHE (B) SEAUEH  (C) Feadmmm (D) H & &8 T8
Tornadoes are common in

(A) Australia (B) USA (C) Philippines (D) Japan

Il 30 FTHTIG: Bid 8

(A) =l (B) JudT (C) Trefidia (D) UM

Sunda Trench is situated in the

(A) Indian Ocean (B) Atlantic Ocean
(C) _Pacific Ocean (D) Arctic Ocean
el ¢ (@rg) s feer B

(A) Fgme@mR (B) JYHEEIR (C) IS HETETR (D) 3ATehideh HEHNR
Ozone depletion is mainly caused by

(A) Carbon dioxide (B) Chlorofluorocarbons

(C) Carbon monoxide (D) None of these

ISTH 3T T Tohereh g 81T & 7

(A) e SRIFETEE (B) FARIFAIHTE

(C) HTeH HHITTSS (D) ¥ 9 s &l

Which of the following rivers has its source outside India ?

(A) Ravi ‘ (B) Beas (C) Jhelam (D) Brahmaputra
freferRea & @ S =t & % | 9T o aTet g ?

(A) T (B) =& (C) @M (D) SEAT

Which of the following soils is most suitable for the cultivation of cotton ?
(A) Black Soil (B) Alluvial Soil (C) Red Soil (D) Laterite Soil
frfeftaa & @ o € ¥e1 %um™ i St & e aifes 3uge & ?

(A) #refifat (B) Semgfad  (C) @ (D) dAeuse fag
The Hindustan Aeronautics Ltd. (HAL) is situated at

(A) Kanpur (B) Ahmedabad (C) Bangaluru (D) Nagpur
fagmam wiHifeaw fot. (HAL) #al m e 8 7

(A) HE (B) 3EHEEE  (C) SR (D) TR

The major constituent of fowl egg yolk is

(A) Protein (B) Fat (C) Lacticacid (D) Creatine
Tt & 37 Sl TG T T °h o
(A) A (B) =& (C) wfeewmufie (D) forudim
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148. Pace-maker is related to
(A) Lung (B) Kidney (C) Heart (D) Liver
UG Ueht Heiferd 8
(A) BHS T (B) Twsfid (C) TH (D) IHd ¥

149. Conduction can take place in

(A) Solids (B) Liquids (C) Gases (D) None of these
qag &l Tohdl 8
(A) 3@ H (B) zad (C) nad (D) 3H € IS &l

150. Radioactive substances do not emit
(A) Positrons (B) Protons (C) Alpharays (D) Betarays
Heafaes uered scafsia &t
(A) TifgH (B) W (C) 31wl fhi (D) fter foptui

151. The most characteristic property of a liquid is

(A) Fluidity (B) Elasticity
(C) Volume conservation (D) Formlessness
Teh 5 1 Talfeeh SAT&Iforeh 07 8

(A) Sarfear (B) SR (C) I W& (D) WEIEHA

152. The composition of solder metal is

(A) Lead and silver (B) Lead and iron

(C) Lead and tin (D) Lead and copper

Tleet 91g, 9a5H §

(A) 8 3 foeat &1 (B) oIS 3R 3T I

(C) T8 IMIT (D) oIS 3R W I
153. Glycerol is a by-product in the manufacture of

(A) Rubber (B) Soap (C) Nylon (D) DDT

freTater fordeh 3TET § 39-3C 2 7

(A) T (B) ®red (C) e (D) DDT
154. The dormancy of buds can be broken by

(A) Auxin (B) Ethylene

(C) Traumatic acid (D) Gibberellin

Sh{cTehT 3T <h! YEHTERERT i feherd dleT SITaT & 7

(A) it (B) sfufem (C) zhfes wfag (D) fsaiefim
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15S.

156.

157.

158.

159.

160.

In a class of 45 students, a boy is ranked 20". When two boys joined, his
rank was dropped by one. What is his new rank from the end ?

(A) 25" (B) 26" (C) 27" (D) 28"
45 BT h Teh HeTT H Teh TSk bl hH 2091 AT I & ASeh I Al IHehT T Toh
%A I T | STTRET H ITHT 1 3hH AT &1 ?

(A) 259 (B) 26dt (C) 274t (D) 28af

‘A’ 1s the brother of ‘B’. ‘B’ is the daughter of ‘C’ and ‘D’ is the father of
‘A’. Then, how is ‘C’ related to ‘D’ ?

(A) Husband (B) Wife

(C) Grand-daughter (D) Grand-father

‘A,BHRIAER | B, CCH TR IHARD, AR TR |1 aWC, D’ F
fohe TR T 2 2

(A) ufd (B) el (C) drit (D) <t

The capital of the Jaswan state was at

(A) Jasur (B) Rajpura (C) Nadaun (D) None of these
SITEEH T oh! TSYTT shal W ofi 7

(A) ST (B) TST (C) AH (D) 8 & g 7
Shimla was the headquarters of the exiled government from 1942-1945 of
(A) Afghanistan (B) Burma (C) Tibet (D) Bangladesh
1942-1945 % S fmen fora fatfea R =1 gemers or?

(A) FHMHEHE  (B) &9l (C) Tassa (D) STeTe

Which Sect of Buddhism is widely followed in Himachal Pradesh ?

(A) Hinayana  (B) Mahayana (C) Pitambara (D) Vajrayana
TeuTaret I § Sig g 1 A A1 AR SATGIHR STTERA & 2

(A) feram (B) WeEM (C) fraisr (D) ISIH

The first ever Women Polytechnic Institute of Himachal Pradesh is located at
(A) Nahan (B) Kandaghat (C) Arki (D) Jubbal
TeuTaet yeu it wavem afger aiferefare gwen frd 2

(A) AT (B) SHEERHE (C) A (D) T H
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161.

162.

163.

164.

165.

166.

167.

168.

169.

170.

Which social networking giant has partnered with National Commission for
Women to offer digital literacy programme for women ?

(A) Skype (B) Facebook (C) Twitter (D) LinkedIn
afgettati <l fefstea gremar srisn veM s & foru form aifsrrer FeatfdT sire A
T wiger 3 @ greer i 2

(A) EhTEd (B) HHIH (€) T (D) feide =

Which state government has recently declared official symbols for the State ?
(A) Telangana (B) Mizoram (C) Tripura (D) Andhra Pradesh
for® T TR A TS <6 To1U g1t 21 | 3mirestiies gdies =ifya feram @ 2

(A) T (B) firsrm (C) Frgu (D) 3TY e
The book ‘Straight Talk’ has been authored by

(A) Manmohan Singh (B) M. Venkaiah Naidu

(C) Abhishek Manu Singhvi (D) Shashi Tharoor

TE Tk’ Tieh fehe ot ?

(A) wHE & (B) TH. IR TG

(C) e ug Tt (D) i U=

The 2018 International Dance Day was observed on which date ?
(A) 27 April (B) 28 April (C) 29 April (D) 30 April
2018 31 A T Tea® fohe aRE I 7RI ST & 2

(A) 27 30« (B) 28 3« (C) 29 318 (D) 30 31

Meaning of the idiom ‘Knit one’s brows’ is

(A) to disappoint somebody (B) to frown

(C) to have a headache (D) to express discontentment
Antonym of the word ‘Wizard’ is

(A) Crook (B) Magician  (C) Ordinary (D) Villain
One must try best to achieve success.

(A) his (B) her (C) one’s (D) their
‘3T T TR &

(A) g (B) fow (C) gm (D) et
T 7TeG 8

(A) s (B) I8 (C) i (D) st

ST T G AT 3° o foTw e weg B
(A) IR (B) 3mIa (C) maErfaa (D) amied
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